
Following are the details of order #101 placed on fortaj.ca:

Dealer Name: Prime Brakes & Parts
Contact Person: Paramjit Singh
Email id: globeautopartsltd@gmail.com
Contact No.: 7789290562

Product Details Quantity

F-101351R
RH Side 10 Spline Truck S-Cam (13.47")

2

F-101352L
LH Side 10 Spline Truck S-Cam (13.47")

2

F-101521R
RH Side 10 Spline Truck S-Cam (15.13")

2

F-101522L
LH Side 10 Spline Truck S-Cam (15.13")

2

F-102041R
RH Side 10 Spline S-Cam (20.44")

2

F-102042L
LH Side 10 Spline S-Cam (20.44")

2

F-102351R
RH Side 10 Spline S-Cam (23.50")

2

F-102352L
LH Side 10 Spline S-Cam (23.50")

2

F-20483
Headlight Bezel (Peterbilt,Kenworth,Flt)

4

F-281121R
RH Side 28 Spline Trailer S-Cam (11.033")

40

F-281122L
LH Side 28 Spline Trailer S-Cam (11.033)

40

F-3018B
Glad Hand Rubber (Black)

100

F-302612C
Trailer Air Hose 12 Feet Colored (3 into 1)

10

F-700404P
Air Brake Push to Connect Union Fitting (1/4")

50

F-700606P
Air Brake Push to Connect Union Fitting (1/4")

25

F-7015ABS
Trailer ABS Coiled Power Cord (15 Feet)

5

F-7115ABS
ABS Trailer Wire with Plugs (15 feet)

10

F-7800-06
Air Brake Hose Connector Straight 3/8"

100

F-780606S
3/8" Male Pipe (NPT) X 3/8" AIR BRAKE Hose Fitting (W/Spring)

100



F-780608
Air Brake Hose Fitting 1/2" Pipe, Thread 3/8"

20

F-780608S
3/8" Male Pipe (NPT) X 1/2" AIR BRAKE Hose Fitting (W/Spring)

30

F-781204
Nylon Tube (Air) 1/4"

200

F-781206
Nylon Tube (Air) 3/8"

200

F-901500
Tarp Motor (1.5 HP)

1

F-AB156C
Cab Air Bag Volvo 2013 +

10

F-ABS1322
Trailer ABS-TCII Modulator Cable (1.65 Ft)

2

F-ABS2752
Trailer ABS-TCII Modulator Cable (1.65 Ft)

2

F-ABS506020
ABS Valve 2S/1M Valve( Air Portion Only)

1

F-ABS950330
ABS Valve ABS 2S/2M, 4S/2M, 4S/3M ( Air Portion Only)

1

F-AC1000
Air Chuck Heavy Duty Chorme

10

F-ACH48
Steel Breaded Compressor Air Hose (48.00")

10

F-AD7801266
Air Dryer AD-IS 12 V

6

F-AH1004RB
Service and Supply Air Hose from Truck to Trailer (1/2" Threads)

10

F-BC303013
Brake Chamber T3030 Short Stroke (13.00" Push Rod)

20

F-BC7802384R-00
Trailer Air Disc Caliper - 0° RH (ADB22X)

3

F-BC7802385L-00
Trailer Air Disc Caliper - 0° LH (ADB22X)

3

F-BCD2430
Diaphragm T24,T30 and T3030

20

F-BD783014
Brake Rotor Rear Navistar(Diameter: 15.00")

4

F-BP88999159
ADB22X Brake Pad with complete Kit ( High Performance)

20

F-CB78890
S-Cam Tube Repair Kit (WITH BRONZE BUSHING)

40

F-CH025
Silicone Coolant Hose (Inner Dia.: 1/4")

50

F-CH038
Coolant Hose (Inner Dia: 3/8")

50



F-CH058
Coolant Hose (Inner Dia: 5/8")

100

F-CT64837
Coolant Reservoir Volvo/Mack (2008 +)

7

F-CT787001
Coolant Reservoir Peterbilt(579) /Kenworth (T680, T880)

1

F-DB78348P
Truck / Trailer Eye Bushing (Height: 3.5", O.D.: 3.5", I.D.: 2.00")

30

F-DB78448P
Trailer Drawer Bushing (Poly) Pair

20

F-EC30300
ABS Extension Wire with Ends (3 Meters)

20

F-EC402A
Exhaust Steel Flat Clamp

10

F-EC500SF
Exhaust Clamp 5.00" Flat

10

F-H30118B
Mudflap Hanger Black 1-1/8" Bolt ,Length:- 30.00" (Pair)

5

F-H30118B-45
Mudflap Hanger Black 1-1/8" Bolt, Angle 45 Degree (Pair)

10

F-H30118C
Mudflap Hanger Chrome 1-1/8" Bolt ,Length:- 30.00" (Pair)

5

F-H30118C-45
Mudflap Hanger Chrome 1-1/8" Bolt, Angle 45 Degree (Pair)

10

F-H30250B
Mudflap Hanger Black 2-1/2" Bolt ,Length:- 30.00" (Pair)

5

F-H30250B-45
Mudflap Hanger Black 2-1/2" Bolt, Angle 45 Degree (Pair)

5

F-H30250C
Mudflap Hanger Chrome 2-1/2" Bolt ,Length:- 30.00" (Pair)

10

F-H30250C-45
Mudflap Hanger Chrome 2-1/2" Bolt, Angle 45 Degree (Pair)

5

F-HB60614-KW
LH, Peterbilt / Kenworth Complete Headlight Assy.

2

F-HB60615-KW
RH, Peterbilt / Kenworth Complete Headlight Assy.

2

F-HB78614-KW
Kenworth / Peterbilt Complete Headlight Assy. LH

1

F-HC1606P
Hub Cover Trailer (with Plug)

100

F-HC7895
Trailer Hub Cap

10

F-HL5000R-VOL
Head Light Volvo VNL RH Black( 2004 - 2016)

1

F-HL5001L-VOL
Head Light Volvo VNL LH Black ( 2004 - 2016)

1



F-HL6000R-VOL
Head Light Volvo VNL RH Chorme ( 2004 - 2016)

4

F-HL6001L-VOL
Head Light Volvo VNL LH Chorme ( 2004 - 2016)

4

F-HL7006R-FLT
RH Cascadia Headlamp Assembly (2007-2017)

3

F-HL7007L-FLT
LH Cascadia Headlamp Assembly (2007-2017)

3

F-HL786095
Volvo VN VNL VHD Hood Lock (2004-2015) Left Side

1

F-HL786096
Volvo VN VNL VHD Hood Lock (2004-2015) Right Side

1

F-HU7823
Trailer Hub Assembly Cast (10 Studs)

4

F-LED2006R-FLT
RH, Cascadia LED Head Light (2008-2017)

1

F-LED2007L-FLT
LH, Cascadia LED Headlight (2008-2017)

1

F-LED4400
4 x 4 Inch LED Work Light 4200lm

30

F-LED4600H
Headlight LED Low/High Beam (4 x 6 Inch)

4

F-LED5660R-PB
Peterbilt 389 LED Headlight RH

1

F-LED5661L-PB
Peterbilt 389 LED Head Light LH

1

F-LK1156-2
Leveling Valve Universal Linkage Kit Adjustable

20

F-MB8000
Fender Mounting Post W/ Bolt (8.00 Inches)

4

F-MR78600
Mudflap Hanger Aluminum Reflector Top Flap Plate Straight (30.00")

10

F-MR78645
Mudflap Hanger Aluminum Reflector Top Flap Plate 45 Degree (16.00")

10

F-MU10544
Muffler Stack (10.00" x 5.00" x 44.00")

6

F-NC10133AC
ABS Chrome Threaded Nut Cover (Round)

50

F-NC12433AC
ABS Chrome Threaded Nut Cover(Pointed Top)

50

F-NC12733AC
ABS Chrome Threaded Nut Cover (6 Sides)

50

F-NC5433S
Steel Chrome Nut Cover Push On (54mm x 33mm)

200

F-NC5733AC
ABS Chrome Nut Cover Push On (57 x 33mm)

200



F-PV4107
Pressure Control Valve (Opens at 60 PSI)

10

F-PV4341
Purge Valve Kit AD9

6

F-PV8313
Purge Valve AD/IS and AD/IP

4

F-QF2430B
Poly Black Quarter Fender Wide: 24.00" (Pair)

10

F-QOR9714
Quick Release Valve QR-1 (3/8" x 3/8" x 1/4" x 1/4")

20

F-RV3115
R12 Type Relay Valve for ABS

2

F-SH78486
Volvo Rear Air Suspension Shock

20

F-SH78494
Volvo / Mack Steer Shock GAS (2013+)

10

F-SV65437
SR-5 Coreless Spring Brake Valve

10

F-SV78500
Spring Brake Control Valve

10

F-T1600KD
Tender Kit Double Spring (16 Inches)

10

F-T1600KS
Tender Kit Single Spring ( 16 Inches)

100

F-T60436
Fan Belt Tensioner (Freightliner, Sterling, Westernstar)

2

F-T60441
Fan Belt Tensioner (Freightliner, International)

1

F-T60448
Cummins A/C Belt Tensioner

4

F-T60457
Volvo/Mack Alternator-A/c Belt Tensioner

2

F-T60480
Fan Belt Tensioner

3

F-T60935
Belt Tensionor (Volvo / Mack)

3

F-TA1625
Kenworth Torque Arm (8 Bag)

4

F-TA1631
Freightliner/Westernstar Torque Arm (Length: 23.81”)

4

F-TA1654
Freightliner Torque Rod (Length 24.21")

10

F-TP60101
Fan Belt Tensioner Pulley

2

F-TP60106
Alternator Belt Tensioner Pulley

2



F-TP60109
Alternator Belt Tensioner Pulley

2

F-TP60110
Fan / Alternator / A/c Belt Tensioner Pulley

2

F-TP60111
A/C Belt Tensioner Pulley

2

F-TP60319
Fan / Alternator Belt Tensioner Pulley

2

F-TP60320
Fan / Alternator Belt Tensioner Pulley (10 Groves)

2

F-TP60919
Fan / Alternator Belt Tensioner Pulley

2

F-WB78079PK
Fifth Wheel Bushing Kit Fontane ( 4 Piece)

2

F-WPM60025
Wiper Motor Volvo, VN (Gen I And Gen II )

1


